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General Instructions :
(i)  Attempt all the questions.
(ii)  Use both sides of the drawing sheet, if necessary.
(iii) All dimensions are in millimetres.
(iv) Missing and mismatching dimensions, if any, may be suitably assumed.
(v)  Follow the SP : 46-2003 revised codes (with first angle method of projection).
(vi) In no view of question 2, hidden edges or lines are required.
(vii) In question 4, hidden edges or lines are to be shown in views without section.

(viii) Number your answers according to questions.

1. el sgloskieass oot o S IIST | T fashed 3ToAT 9T v W aTeifgd wifsT 1 5x1=5
() ST W& GEORETT 37el % THMIOR R €, Sv¢ el ST §
(37) AR @MW (Parallel lines)
(F) T EHaE W@ (Non-isometric lines)
(¥) o= @M (Perpendiculer lines)
(%) | W@ (Isometric lines)

(i) Fr=fafed & ¥ SF Q1 g 99 B SRR ¥ F 9T F QY Sed d W Tél
TATE 2
(3) ¥ (Stud)
(@ g®aE (Hook bolt)
() TR &S dlee (Square head bolt)
() FUTETH (Cup head screw)

(iii) Fr=fafed & @ fraw sl gfeat el gl & 2
(37) ¥ (Stud)
() A BF (Machine screw)
(@ T (Nut)
() 4 (Bolt)
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(iv) Tr=feafaa & 9 & 91 Sie, 31 uTEd & Siied % fold JaT fhar ST & 2

v)

(3D
)
)
®

Toiot UTeY Sige (Flanged pipe joint)
fiTer 3R ieT SiEe (Gib and cotter joint)
HieT 3] ey Sige (Cotter and pipe joint)

e 3T HieX SiEe (Sleeve and cotter joint)

T YITUE ST H FoA fehaT St ST JiT B ST € 2

(3D
)
G))
®

2
3
4
5

Answer the following Multiple Choice Questions. Print the correct choice on your

drawing sheet.

(1)

(i)

(i)

Lines which are not parallel to the isometric axis are called

(@)
(b)
(©
(d)

Parallel Lines
Non-Isometric Lines
Perpendicular Lines

Isometric Lines

Which one of the following machine part is not paired with a nut for a temporary

fastening ?

(a)
(b)
(©)
(d)

Stud
Hook bolt
Square head bolt

Cup head screw

Which one of the following is not having external thread ?

(2)
(b)
(©)
(d)

Stud

Machine Screw
Nut

Bolt

P.T.O.
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(iv)

v)

(i)

(111)

(1)

(i)

(i)

Which one of the following joint is used for joining two pipes ?
(a) Flanged pipe joint

(b)  Gib and cotter joint

(c) Cotter and pipe joint

(d) Sleeve and cotter joint

How many total number of keys are used in a shaft coupling ?
(@ 2

(b) 3
(c) 4
@ 5
e THYNATT GHH &l ST |

T 31T Vg (MR =9 50 i, swefi S=mg 70 fodh) H.P. W fed & Saeer ot
T, T o & | ST Ush THYRHTT T8T S0 | 37T 1 fS@nd 37 S i 9 =
Hehel fo@=T | {4 M ST |

T &fdT (Horizontal) TSYSTHR 5T (T[T t 3T 25 foedt, i =t omg 70 )

FTeh 31 TSR Felsh ol dl. & THMFICR § | THH U TIAR Folsh U SoMTHR
fewh (3mgR =g 90 ot Hierg 25 fdt) % SR IR ot o draiee feehl gam € |
T o TS T THIRHATT FT SET | Wedish 3 o 38T B Q@) | S St Qe
Tepet femen | Tl s iR |

Construct an isometric scale.

An inverted cone (base diameter 50 mm, axis height 70 mm) is kept on H.P. with
its axis perpendicular to H.P. Draw its isometric projection. Show the axis and
indicate the direction of viewing. Give all dimensions.

A horizontal hexagonal prism (side of hexagon 25 mm, length of the prism
70 mm) having its two hexagonal faces parallel to V.P.. It is resting centrally
with one of its rectangular faces on the top circular face of a cylindrical disc
(base diameter 90 mm, thickness 25 mm). Draw the isometric projection of the
combination of solids. Show the axis of each solid. Indicate the direction of
viewing. Give all dimensions.
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3. () 1 : 1 AO H U AfEE Igt 39 (Metric thread Internal) 31 H1He TR
FAIRT, T g2 U9 ol 40 Tl AT | 99k TR T | 8

arera
3TT T AL SR TEU. % FHHCR @ §C, 20 Ml = ol T aieR 3 e
(square head bolt) T 9@ T¥9 3iX U%d g¥9 | : | &l AT § FRT | OHF
3™ T |
(i) 37T N FATR W g, TH 60° CSK ¥ faz (60° CSK head rivet) = 30 ot
H T 9T 31X S 39T ToRiesd ST | I ST T | 5
arera

40 THE = % W9 % 7T U gaet € 1 ®i (double head gib key) &1 T@
399, S04 39 3R Ud ¥F Heesd SRy | Wi ST T |
(i) Draw to scale 1 : 1 the standard profile of a Metric thread internal, taking
enlarged pitch 40 mm. Give standard dimensions.
OR
Keep the axis parallel to V.P. and H.P., draw to scale 1 : 1, the front view and
side view of a square head bolt of diameter 20 mm. Give standard dimensions.
(i) Keep the axis vertical sketch freehand the front view and top view of a 60° CSK
head rivet of diameter 30 mm. Give standard dimensions.
OR

Sketch freehand the front view, top view and side view of a Double head gib
key for a shaft of diameter 40 mm. Give standard dimensions.

4. Ta=-1 °, uw 3 Tl (Open bearing) & Isit o1 foaror fg@m@r w1 € | &9 Yt & 3k
Y UHEd ek, 1:1 S A H 39 FEfcRad gea st SR |

() ST 3T He Qied, TG g7 | 14
(if) oM SR F T gL, I 59 | 8
STTeh T TS TIOHT STTeifad HiTT | e foe ST | 6 WeeargoT fommd it | 6

Figure — 1 shows the details of the parts of an OPEN BEARING. Assemble these
parts correctly, and then draw its following views using scale 1 : 1.

(1)  Front view, left half in section.
(i) Side view looking from left.

Print the title and the scale used. Draw the projection symbol. Give 6 important
dimensions.
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a2 #, U Wikhe ¥ faiie sy Sige (Socket and Spigot Cotter Joint) % Tufed
T9AT I fS@mE T T | 3 Y Bl ST ok Sk METIRad Uit o g9l I, 1:1 i HOET 7

ST | AT B TA A, SR S, I P T § T Wiehe IR HieX i fefd o FEw |
(i) EFhe (Socket) :

(3) TR 3 e Wied, THE 99 |

(F) =M AR I I@d g, IS 97 |
(i) ®RT (Cotter) :

(3) wHETH |

(F) Sied 2 ¥ 3@ gU, Ud g9 |

T o STk T TSR HTOHT STTef@d SHifsTT | HeiT foed S8 | 6 Heweyul famm i |

=

Figure — 2 shows the assembly of a SOCKET AND SPIGOT COTTER JOINT.

Disassemble the parts and then draw its views of the following parts to scale 1 :

Keep the same positon of both socket and cotter with respect to H.P. and V.P..
(1) SOCKET:

(a) Front view, upper half in section.

(b) Side view looking from left
(i) COTTER:

(a) Front view

(b) Side view looking from right

1.

Print the titles of both and the scale used. Draw the projection symbol. Give six

important dimensions.

P.T.O.



FRONT VIEW UPPER HALF IN SECTION
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T2 / Fig. 2 SOCKET AND SPIGOT COTTER JOINT

Note : FIGURE NOT TO SCALE. USE DIMENSIONS GIVEN FOR SOLUTIONS.
TAKE ALL ROUNDS R3
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